Understand budget through
four major heads

he first budget presented by

BJP lead Government looks to
be promising. We can divide the
budget into four major heads. first
being competitiveness of country,
second being for domestic industry
and third for common man and
fourth Society.

The Finance Minister has well
balanced the issues and proposed
to keep the deficit at the current level.

The FM had to fight with inflation increase investment
and growth momentum. He has tried to develop Indian’s
competitiveness through investment in infrastructure,
custom single window clearance, exercise duty being re-
duced in footwear, local produced LED etc. Investment in
technology development, investment in textiles clusters.
Government has invested both in traditional clusters
and contemporary electronic clusters. This will help in
developing world quality, price competitive products .

In local industry growth, the budget has some positive
news specially for food packaging industry through re-
duction of excise duty. This will help more investment
in food processing industry. Investment in sports, com-
munication and overall process efficiency will help the
local industry grow . This will help in addition of more
employment numbers.

For salaried and IT payers. housing loan rebate raised
from Rs 1.5 lakh to Rs 2 lakh. Increased investment lim-
it under Section 80C from Rs 1 lakh to Rs 1.5 lakh is a
good sign.

Social: Investment in Girl child education is an inno-
vative step. Increasing duty on tobacco products and oth-
er social evils products.

Over all I can say that this budget has tried to take care
of short term and long term issues in same breath. The
success of this budget lies in implementation.

Prof Prashant Salwan, Chair Strategic Management area, IIM Indore
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